
SAP ABAP table TC28A {Move time matrix}

TC28A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

ORTGR [CHAR (4)]

WRKTO [CHAR (4)]

ORTTO [CHAR (4)]

ZEITN [UNIT (3)]

ZEITM [UNIT (3)]

T000

MANDT [CLNT (3)]
 TC28A-MANDT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 TC28A-WERKS = T001W-WERKS 
0..N

1  TC28A-WRKTO = T001W-WERKS 
0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 TC28A-ZEITM = T006-MSEHI 

0..N

{0,1}

 TC28A-ZEITN = T006-MSEHI 
0..N

{0,1}

TC28

MANDT [CLNT (3)]

WERKS [CHAR (4)]

ORTGR [CHAR (4)]

 TC28A-ORTGR = TC28-ORTGR 

0..N

1

 TC28A-ORTTO = TC28-ORTGR 

0..N

1


